SIGNATURE PAGE

RFQ# F-20-2024

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	Conser Flag
Preparer's Name:	Kenny Gudahl
Signature:	Keng Sudahl 10/6/2023
Address:	1003 Illinois ST
	Sidney N.E 69162
Telephone No.:	(308) 254-4720
Fax No	(308) 254-2419
E-Mail Address:	Kenny @ Consenflag. Com
	(This should be the email where Contracts would be sent)
Contact Person:	Kenny Gudahl
FEIN:	
(Endaral Employee ID)	

REQUES'T FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

KFB# F-2U-2U24

Contact: Sophia Amorski 732-431-7370 x7381

RFB	must be received no later than:	October 12, 20	023 10:30AM			
For E	Delivery to: Various Delivery Loc	ations. See Details Belov	N.			
Deliv	very Da te:	1/1/2024-12/31/2024				
ITEM	# DESCRIPTIO	N	QUANTITY/UNIT		UNIT PRICE	TOTAL PRICE
BUILI	DINGS & GROUNDS (ON-CALL, AS NE	EDED)				
1	3' X 55' OUTDOOR UNITED STATES F	LAG, NYLON	5 EACH			,
	FLAG TO WEIGH NO LESS THAN 9.8 Packaging:	3 OZ			19-89	99,45
	MFG/Brand: FLacZone		- -			
	Providuct No: O IU 4 35 Variances, if any:	. 45	 _	٠,		
2	4' X 6i' OUTDOOR UNITED STATES	FLAG, NYLON	20 EACH	,		
	FLAG; TO WEIGH NO LESS THAN 13	.9 OZ.			29.89	597.80
	Parckaging:	· · · · · · · · · · · · · · · · · · ·	_			
	. MF-G/Brand: Flac 2	10/16	<u> </u>			
	Product No: No 10 4		- -			
3	5' X 8' OUTDOOR UNITED STATES	FLAG, NYLON	30 EACH			
	FLACE TO WEIGH NO LESS THAN 1.2	29 LBS.			49.89	1496,70
	Packaging:		_			
	MF G/Brand: Flag Z	258US	_			·
	Variances, if any:		, -	·		
4	3' X 55' OUTDOOR NEW JERSEY FLA	AG, NYLON	3 EACH			
	FLAG TO WEIGH NO LESS THAN 9.8	OZ.			23.74	71.22
	Parckaging:		_			
	MF-G/Brand: EDERC Product No: NY351	5.5	<u>-</u>			
	Variances, if any:		_			
	· · · · · · · · · · · · · · · · · · ·					

REQUEST FOR BID

---- This Is Not An Order ---



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
5	4' X 6; OUTDOOR NEW JERSEY FLAG, NYLON FLAG; TO WEIGH NO LESS THAN 13.9 OZ.	10 EACH	43.74	437.40
	Packaging: MF-G/Brand: Product No: Variances, if any:		<u> </u>	
6	5' X 83' OUTDOOR NEW JERSEY FLAG, NYLON	5 EACH	66-74	333,70
	FLAG TO WEIGH NO LESS THAN 1.29 LBS. Packaging: MF G/Brand: Product No: Variances, if any:			
7	3' X 5," OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG;, NYLON CUS TOM COUNTY FLAG DESIGN TO BE PROVIDED IN	3 EACH	54-89	164.67
	VEC'TOR ARTWORK FLAG TO WEIGH NO LESS THAN 9.8 OZ.		34.01	
	Packaging: MF G/Brand: Product No: Variances, if any: Packaging: Flagzowe/ Annin Custom 35 mon cty Variances, if any:			
8	4' X 63' OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON, SINGLE-SIDE REVERSE	10 EACH	67-89	678,90
	CUS TOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK FLAG TO WEIGH NO LESS THAN 13.9 OZ.			
	Packaging: MF G/Brand: FLacZone/ Annin Product No: Customal ManCty Variances, if any: Minimum Order 3			
-				

REQUESIT FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

KFB# F-2U-2U24

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
9	5' X 8' OUTDOOR MONMOUTH COUNTY, NEW JERSEY FLAG, NYLON CUS TOM COUNTY FLAG DESIGN TO BE PROVIDED IN VEC TOR ARTWORK FLAG; TO WEIGH NO LESS THAN 1.29 LBS.	3 ÉACH	96-74	290.22 96.74 16
	Packaging: MF G/Brand: Product No: Variances, if any: Packaging: FLASZONE/Annin Custom 58 minety Niniman order 3			
10	3' X 55' OUTDOOR POW FLAG, NYLON FLAG TO WEIGH NO LESS THAN 9.8 OZ.	10 EACH	32-74	327.40
	Parckaging: MF*G/Brand: Product No: Var fances, if any:			
11	4' X 6;' OUTDOOR POW FLAG, NYLON FLAG; TO WEIGH NO LESS THAN 13.9 OZ.	15 EACH	42.74	641.10
	Packaging: MF G/Brand: Product No: Varriances, if any:			
12	5' X 8' OUTDOOR POW FLAG, NYLON FLAG TO WEIGH NO LESS THAN 1.29 LBS.	5 EACH	66.74	333,70
	Parckaging: MF G/Brand: Provduct No: Variances, if any:			
13	4' X 6' INDOOR UNITED STATES FLAG, NYLON FLAG; TO WEIGH NO LESS THAN 13.9 OZ.	10 EACH	84-89	848-90

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

KFB# F-2U-2U24

Contact: Sophia Amorski

732-431-7370 x7381

COU	NTY (30-0P)			
ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MF G/Brand: Product No: Variances, if any:			
14	3' X 55' INDOOR UNITED STATES FLAG, NYLON, EMBIROIDERED STARS, FLANNEL LINED POLE HEMIMING WITH GOLD FRINGE, VELCRO TAB	5 EACH	57.89	289.45
	Product No: Variances, if any:			
15	4' X 6;' INDOOR NEW JERSEY FLAG, NYLON FLAG; TO WEIGH NO LESS THAN 13.9 OZ.	10 EACH	72.74	727-40
	Packaging: MF-G/Brand: Product No: Variances, if any:			
16	3' X 55' INDOOR NEW JERSEY FLAG, NYLON FLAG) TO WEIGH NO LESS THAN 9.8 OZ.	5 EACH	56.74	283.70
	Packaging: MF G/Brand: Product No: Variances, if any:			
17	4' X 6; INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG;, NYLON	10 EACH		
	CUSTOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECTOR ARTWORK		98-89	988-90
	Product No: Variances, if any: Packaging: Place Annia Place Annia Lustom CRNU	16 monety		

REQUES:T FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

KFB# F-2U-2U24

Contact: Sophia Amorski

732-431-7370 x7381

ITEM	DESCRIPTION	OHANTITYHINIT	UNIT PRICE	TOTAL PRICE
18	3' X 55' INDOOR MONMOUTH COUNTY, NEW JERSEY FLAG3, NYLON, WITH POLE HEM, TABS AND GOLD FRIN GE TRIM CUS TOM COUNTY FLAG DESIGN TO BE PROVIDED IN VECT OR ARTWORK	3 EACH	78.89	236-107
	FLAG: TO WEIGH NO LESS THAN 9.8 OZ. Packaging: MF G/Brand: Product No: Variances, if any:	,	. [
19	4' X 63' INDOOR MODIFIED NYLON POW MIA FLAG, DOU:BLE EMBLEM, POLE HEM, TABS AND WHITE FRIN!GE	5 EACH	74.89	374.45
	FLAG TO WEIGH NO LESS THAN 13.9 OZ. Parckaging: MF-G/Brand: Product No: Variances, if any:			
20	4' X 6: OUTDOOR KILLED IN ACTION (KIA) FLAG, NYLON BACKGROUND COLOR - RED, EMBLEM AND LETTERING COLOR - BLACK AMERICA REMEMBERS	5 EACH	49.74	248.70
	Product No: Variances, if any:			<u> </u>
21	3' X 5.' OUTDOOR HONOR AND REMEMBER FLAG, NYLC)N FLAG: TO WEIGH NO LESS THAN 9.8 OZ.	5 EACH	49.74	248-70
	Packaging: MF·G/Brand: Pro-duct No: Va riances, if any:			

REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

KFB# F-2U-2U24

Contact: Sophia Amorski

732-431-7370 x7381

4' X 6;' INDOOR NYLON ARMY FLAG WITH POLE HEM,			
TABS; AND FRINGE	5 EACH	75-74	378.70
FLAG; TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MF-G/Brand: Product No: Varriances, if any:	• • •		
4' X 63' INDOOR NYLON NAVY FLAG WITH POLE HEM, TABSS AND FRINGE	5 EACH	75.74	378,70
Packaging: ————————————————————————————————————			
Product No: ERN460409 Variances, if any:	•	· · · · · · · · · · · · · · · · · · ·	
4' X 63' INDOOR NYLON AIR FORCE FLAG WITH POLE HEM, TABS AND FRINGE	5 EACH	75.74	378-70
Packaging: MF:G/Brand: Product No: Variances, if any:		1	
4' X 6' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS; AND FRINGE	5 EACH	75-74	378.70
Packaging: MF G/Brand: Product No: Variances, if any:	•		, ,,,
4' X 63' INDOOR NYLON COAST GUARD FLAG WITH POLEE HEM, TABS AND FRINGE	5 EACH	75.74	378,70
	MF-G/Brand: Product No: Variances, if any: 4' X 6' INDOOR NYLON NAVY FLAG WITH POLE HEM, TABS AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MF-G/Brand: Product No: Variances, if any: 4' X 6' INDOOR NYLON AIR FORCE FLAG WITH POLE HEM, TABS AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MF-G/Brand: Product No: Variances, if any: 4' X 6' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS: AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MF-G/Brand: Product No: Variances, if any: 4' X 6' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS: AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MF-G/Brand: Product No: Variances, if any: 4' X 6' INDOOR NYLON COAST GUARD FLAG WITH	MF:G/Brand: Product No: Variances, if any: 4' X 63' INDOOR NYLON NAVY FLAG WITH POLE HEM, TABS3 AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MF:G/Brand: Product No: Variances, if any: 4' X 63' INDOOR NYLON AIR FORCE FLAG WITH POLE HEM, TABS AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MF:G/Brand: Product No: Variances, if any: 4' X 63' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS3 AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MF:G/Brand: Product No: Variances, if any: 4' X 63' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS; AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: MF G/Brand: Product No: Variances, if any: 4' X 63' INDOOR NYLON COAST GUARD FLAG WITH 5 EACH POLE HEM, TABS AND FRINGE	MF-G/Brand: PLACZONE Product No: OLEN 46 ARMY Variances, if any: 4' X 63' INDOOR NYLON NAVY FLAG WITH POLE HEM, TABS AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: PLAGZONE Product No: OLEN 40 AVY Variances, if any: 4' X 63' INDOOR NYLON AIR FORCE FLAG WITH POLE HEM, TABS AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: PLAGZONE Product No: OLEN 46 ARM FORCE Product No: OLEN 46 ARM FORCE Variances, if any: 4' X 63' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS; AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: FLAGZONE Product No: OLEN 46 ARM FORCE Product No: OLEN 46 ARM FORCE Variances, if any: 4' X 63' INDOOR NYLON MARINE FLAG WITH POLE HEM, TABS; AND FRINGE FLAG: TO WEIGH NO LESS THAN 13.9 OZ. Packaging: FLAGZONE Product No: OLEN 46 ARM FORCE Product No: OLEN 46 ARM FORCE Variances, if any: 4' X 63' INDOOR NYLON COAST GUARD FLAG WITH 5 EACH 75-74

REQUES:T FOR BID

---- This Is Not An Order ----



KFB# F-2U-2U24

Monmouth County Purchasing Hall of Records, 3rd Floor **1 East Main Street** Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Parckaging: MF*G/Brand: Product No: Variances, if any:	•		
27	20" X 8' NYLON PULLDOWN, 50 STARS WITH RED AND WHIT'E STRIPES	. 10 EACH	29-89	298,90
	Packaging: MF G/Brand: Provduct No: Variances, if any:			
28	3' X 63' NYLON FAN BUNTING WITHOUT STARS	10 EACH	41.74	417,40
	Parckaging: MF-G/Brand: Provduct No: Var iances, if any:	,		
29	4' X 8." NYLON FAN BUNTING WITHOUT STARS	10 EACH	53-74	537.40
	Packaging: MF-G/Brand: Product No: Variances, if any:			
30	18' X 36" SEWN STRIPES APPLIQUED STARS PLEATED FAN, POLY-COTTON FAN BUNTING	10 EACH	17-74	177-40
	Packaging: MF G/Brand: Projduct No: Variances, if any:			
31	3" X 63" NYLON MOURNING FAN	10 EACH	45-89	458.90

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor

KFB# F-2U-2U24

1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
;	Packaging: MF G/Brand: Provduct No: Variances, if any:			
32	20" X(8" NYLON MOURNING PULLDOWN	5 EACH	39-74	198-70
	Parckaging: MF-G/Brand: Product No: Variances, if any:			
33	ANNIIN (#697-461) FLOOR STANDS, LIBERTY, GOLD FINIS;H	10 EACH	36.89	368,90
	Packaging: MF G/Brand: Product No: Vairiances, if any:			
34	SPE/AR FLAG TOP, BRASS COLOR	5 EACH	43.89	219.45
	Parckaging: MF G/Brand: Product No: Variances, if any:			
35	EAGLE FLAG TOP, BRASS COLOR	5 EACH	24.89	124.45
	Parckaging: MF-G/Brand: Product No: Vairiances, if any:			
36	BRASS SWIVEL SNAP HOOK	5 EACH	6-74	33-70

REQUES:T FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728

(732) 431-7370 Fax (732) 431-7379

KFB# F-2U-2U24

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	. QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Parckaging: MF-G/Brand: Product No: Variances, if any:			
37	CHROME SWIVEL SNAP HOOK	20 EACH	12.74	254.80
	Packaging: MF G/Brand: Product No: Vairiances, if any:			
38	FLAG POLE, 9 FT. LONG, 1-1/4" DIAMETER, DARK OAK, 2 PIE:CE BRASS COUPLING FOR 4' X 6' INDOOR FLAG	3 EACH	89-89	269.67
	Parckaging: MF*G/Brand: Product No: Variances, if any:	·		
39	FLAG: SPREADER, FOR INDOOR FLAG	10 EACH	32-74	327-40
	Packaging: MF*G/Brand: Product No: Vairiances, if any:			
40	EAS\YKLIP #25202 MINI CLIP 150 L.B. CAPACITY 25 PIER PACKAGE	10 PKG(S)	56.89	568-90
	Packaging: MFIG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·		
41	LARGE WINCH HANDLE FOR STAINLESS STEEL WINCHES	10 EACH	72.89	728-90

REQUES T FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

KFB# F-2U-2U24

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDLED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH

ITEM#	NTY (30-0P) DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
11 EWH	Packaging: MF G/Brand: Provduct No: Var iances, if any:	QUANTITY/ONIT	UNIT PRICE	TOTAL PRICE
VETE	RAN'S INTERMENT (TO BE DELIVERED IN ONE SHIPMENT PER	RITEM SPECIFICATION)		
42	AMEIRICAN FLAG - 12" X 18" U.S. FLAG ON 3/8" STAFF: (50) STAR UNITED STATES COTTON FLAG NOT LESS THAN 12" X 18" FINISHED SIZE ON 32 " OVERALL STAFF STAFF TO BE NO LESS THAN 3/8 " THICK. PRIN'TED ON SOFT COTTON BUNTING, ALL EDGES FINIS; HED. COLORS MUST BE FAST TO SUN AND RAIN. FLAG; TO BE STAPLED-TACKED TO STAFF ON THREE PLAC; ES. THRE: AD OF COTTON TO BE AT LEAST 112 PER SQ. INCH. DOW EL AND GOLD FINIAL. STAFF IS TO BE UNPAINTED WOOD ONLY. FOR THIS ITEM ONLY, ORDER WILL BE MADE IN ONE LUMIP SUM AND MUST BE DELIVERED BY: MARCH 8, 2024 PROJUCT SAMPLE REQUIRED FOR THIS ITEM Packaging: MF: G/Brand: Product No: Variances, if any:	43,000 EACH	1-24	53, 320-00
		TOTAL	. 69,91	7,50

****SEE ATT ACHED ARTWORK OF THE MONMOUTH COUNTY CUSTOM FLAG ARTWORK

****GROUP 7#1 ITEMS ARE ON-CALL FOR JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 - PRODUCT SAMPLES ARE NOT REQUIRED IFOR THIS GROUP

****GROUP ##2 ITEM IS TO BE DELIVERED AS A LUMP SUM NO LATER THAN MARCH 8, 2024 - PRODUCT SAMPLE FLAG IS REQUIRED FOR THIS GROUP ONLY

REQUES'T FOR BID

---- This Is Not An Order ----



KFB# F-ZU-ZUZ4

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER FLAGS FOR VARIOUS MONMOUTH COUNTY DEPARTMENTS ON-CALL, AS NEEDLED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#

DESCRIPTION

QUANTITY/UNIT

UNIT PRICE

TOTAL PRICE

Various Delivery Locations:

Buildings & Grounds/Trades Special Services Complex 300 Halls Mill Road Freehold, N. J 07728 Karen Retze:r 732-431-7360 x2136

Buildings & (Grounds/Trades Special Services Complex 300 Halls Miill Road Freehold, N.J 07728 Karen Retzer 732-431-7360 x2136